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Exercise

1. When propagating untis like seeds and

spores enter a barren area to initiate the

process of succession, it is called________

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1UUGfzpQE70S


A. nudation

B. reaction

C. ecesis

D. migration

Answer:

Watch Video Solution

2. Choose the correct option 

The process by which scion is inserted

https://dl.doubtnut.com/l/_1UUGfzpQE70S
https://dl.doubtnut.com/l/_MWv6W6eSPcFd


successfully into the stock to form a new plant

is called ........

A. layering

B. cutting

C. grafting

D. budding

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MWv6W6eSPcFd


3. In ......, pollen tube enters through micropyle

into the ovule.

A. porogamy

B. chalazogamy

C. mesogamy

D. herkogamy

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GzMgyALGYwR7
https://dl.doubtnut.com/l/_Dud12fLgcaZ9


4. If allele for tallness ( TT ) is dominant and

dwarfness ( tt ) is recessive , then in cross

between _____________  of the offsprings

will be dwarf .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution
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https://dl.doubtnut.com/l/_Dud12fLgcaZ9


5. In secondary treatment of sewage in open

bioreactors , the microorganisms grow and

multiply to form ______________

A. manure

B. compost

C. sludge

D. sediment

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Dud12fLgcaZ9
https://dl.doubtnut.com/l/_aWQq56rya3D2


6. Correct the statements: 

The outer sterile tissue that provides

nourishment to the developing microspores in

microsporangia is called endothecium.

Watch Video Solution

7. Correct the statements of each bit, if

necessary: 

The number of deaths taking place in a

https://dl.doubtnut.com/l/_aWQq56rya3D2
https://dl.doubtnut.com/l/_R2GWFP1HNLOI
https://dl.doubtnut.com/l/_D3x5G7hOgZv7


particular population in unit time is called

natality.

Watch Video Solution

8. Correct the statements of each bit, if

necessary,by changing the underlined words

only: 

Excessive nourishment that causes algal

bloom is known as biomagnification.

Watch Video Solution

https://dl.doubtnut.com/l/_D3x5G7hOgZv7
https://dl.doubtnut.com/l/_imkDh4dVg4Hm
https://dl.doubtnut.com/l/_LfQjgKNImnzs


9. Correct the statements of each bit, if

necessary,by changing the underlined words

only: 

Naked plant cell without cell wall is called

plasmalemma.

Watch Video Solution

10. What is the complementary base of

adenine in RNA?

Watch Video Solution

https://dl.doubtnut.com/l/_LfQjgKNImnzs
https://dl.doubtnut.com/l/_0rkKy0RmFqDv


11. Write notes with 2 to 3 important points :

Biodiversity hot spots

Watch Video Solution

12. Write notes with 2 to 3 important points :

Lac Operon concept

Watch Video Solution

13. Write a short note on food chain.

https://dl.doubtnut.com/l/_uLattgN4EZ6T
https://dl.doubtnut.com/l/_e1jpShwkEXAo
https://dl.doubtnut.com/l/_tQjVcBkEMAuc


Watch Video Solution

14. Write note on : 

Codominance.

Watch Video Solution

15. Write note on : 

Biofortification

Watch Video Solution

https://dl.doubtnut.com/l/_tQjVcBkEMAuc
https://dl.doubtnut.com/l/_hZzWECp9LgqS
https://dl.doubtnut.com/l/_Tsdnxpd3Rr1r
https://dl.doubtnut.com/l/_aUo9oXN8m5iG


16. Write notes: Alcoholic beverages

Watch Video Solution

17. Differentiate between nuclear endosperm

and cellular endosperm

Watch Video Solution

18. Diatinguish between: Genetic diversity and

species diversity

https://dl.doubtnut.com/l/_aUo9oXN8m5iG
https://dl.doubtnut.com/l/_gZFlZT6uQsnI
https://dl.doubtnut.com/l/_DIh0hFT060GX


Watch Video Solution

19. Differentiate between explant and callus.

Watch Video Solution

20. Discuss Mendel's dihybrid cross with

checker board.

Watch Video Solution

https://dl.doubtnut.com/l/_DIh0hFT060GX
https://dl.doubtnut.com/l/_2Pb0e6ge2CmW
https://dl.doubtnut.com/l/_RiQ5YCsKVfke


21. Give an account of development of female

gametophyte in angiosperms.

Watch Video Solution

22. Describe initiation step of translation in

prokaryotes.

Watch Video Solution

https://dl.doubtnut.com/l/_5KlozXEJk7Xj
https://dl.doubtnut.com/l/_RQ9zArq2YIys


23. Answer within 200 words : Give an account

of secondary air pollutants .

Watch Video Solution

https://dl.doubtnut.com/l/_U7disKjqEB3d

